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1. RORXRZEBHLEZEE, <> NOEHOBREZRD L. (SH1O50%, A2 40%, Bikdsy, C#65)

(1) (x+1)7 < 23 > (2) (x—1)° < 2t >

3) (z—a)® < 2’ > (4) (x—|—%>6 < 22 >

B)  (a—20+3)° < a3 >

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROXZEFHLALLEE, <> HNOHEDREERD K. (SHK25 108, A3, B55, CHT4)

1 (z+1® < 2t > 2 (z-1® < 2° >

3 (-t < 28 > (4) (m—l— %)6 < EHUH >

5)  (a—20-3)°% < ab® >
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1. RORXRZEBHLEZEE, <> NOEHOBREZRD L. (SH1O50%, A2 40%, Bikdsy, C#65)
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2. ROXZEFHLALLEE, <> HNOHEDREERD K. (SHK25 108, A3, B55, CHT4)
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